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PAYA LEBAR METHODIST GIRLS’ SCHOOL (PRIMARY)
PRELIMINARY EXAMINATION, 2009

PRIMARY SIX

MATHEMATICS
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e

CLASS PG -
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Total Time for Booklets A and B ;50 min

INSTRUCTIONS TO CANDIDATES

1. Do not turn over this page unti you are toid to do so.

Follow alf the instructions carefully.
. Answer aft questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.
You are not allowed to use a calculator.
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Questions 1 to 106 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3o¢ 4) Shade the corrett oval (1. 2, 3 or 4) on the Optical Answer

Sheet. _ {20 marks)
1. Which of the foltowing is five million, four thousand and séventy—one?

{1) 54071

{2} 504 071

{3} 5004071

(4) 504007t

2. Which of the following decimals is the biggest?
(1y 609 - )
2} o711
3y 0503
{4) 0089

3.  Express %kg in grams.
{1) 400g¢g
{2y 160g
{3y 40g
4y 16g

«-“.’

s 4 .':._?_'t_'- What lsthe Iength of ihe arrow shown m the dlagram begowo e
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5. The diagram below shows a trapezium, ABCD, not drawn to scale.
Calculate ZABC.

A

100°

{1y 8o

2) 100°
3} 130°
{4} 150°

6. For every 3 peanul cookies Mrs Lim baked, she would bake .5.c0colnut cookies. How

many peanut cookies would Mrs Uim bake if she baked 150 coconut cookies? _-

(1} 9o
{2) 250
3) 300
(@) 450

4 At 0900 i Wang teft vnage A and fravelled towards Vitage B af an avérage speed Of
' ‘80km/h. The distance between the two villagss was Z70km. -
: At what ime did MrWang reach Village 87
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The pie chart below, not drawn fo scale, shows the aumber of votes received by four pupils,

Ali, Bernard, Gina, and Mei, in a contesl. Study the pie chart carefully and answer Questions
8 and 9.

8. What fraction of the total number of votes did Mei seceive?

M 3
@ <
@) %
w =

8. - If Bernard received 60 voles, how many votes did the rest of the three contestants’ '
receive altogether?

(_1) 240
LY e
@ 10

10. Simphity 4b—3 +2b+ 9

() sb—12 | ) g

- {2) 6h+ 12 C .

@ 66" T _

@ ev+s e - .
) _ N -=- ‘ - -' ‘ ' _:4_..':‘-:
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1. Muthu and Devi had $n altogether. Afier Muthu gave $12 to Devi, each of them had the
same amount of money. How much did Devi have ai first?

-12 R
2-%

(¥

L —24
2y ¥ 2

3) $n-12)
4) $(n-24)

)

12.  Sharon paid $120 for a dress after a 20%. discount was given.
‘How much was the discount?
(1} $100

{2} %95
3 $30
(4} $24

13, Which of the followirig caninot f6rm a pyramid?
(1) ' (2)
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14, Jeftrey wants to pack some identical cuboids into the container shown befow.

What is the maximum number of cuboids Jeffrey can pack into the container?

1lem
- p v
f'; -
rd _ Acm
) - 14cm
Cuboid : .
- Container
1y 77
2 70° B | .
3} 63
(4) 60
_ i
15. The following pattemn is created with 4 letters, A, B, C and D.

1 & 12 ) _
ABCD}AABBCCDD]AAABBBCCcooo[.--? .
il . 24" . 230™ '

Dth : . '
... Following the above pattem, what is the 230" letter?
TTEyise ‘ ’
® C )
.4 D
. ;f o
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PAYA LEBAR METHODIST GIRL s° SCHOOL (PRIMARY)
PRELIMINARY EXAMINATION, 2009
PRIMARY SiX
MATHEMATICS

PAPER 1
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DATE 1 25 August 2009

Total Time for Booklets A and 8- 50 min

INSTRUCTIONS TQ CANDIDATES

1. .Do not turn over this Page uatit you are told 1o do so.
. Eollow ail the instructions carefully.

3. Answer ali Questlions. . -

ha

4. Wirite your answers in this booklet.
5.

You are.not affowed to use.s calculator. . .

[\ Marks Obtained / Maximum Marks

BOOKLET B I 20
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Juestions 16 to 25 carry 1 mark each. Write your answers in the spaces provided.
Zor questions which require units, give your answers in the units stated. {10 marks)

Zz
16. Find the value of % + =

Express your answer as a mixed number.

-

Answer:
17. Find thevalue of 13.06 X 15. °
Answer; . ,
18. Evaluate 20 +24 = 2 x4 -
“ Answer.
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189. The figure below, not drawn to scale, is made up of 4 identical quadran(é drawn within g

square of side 14cm. Find the perimeter of the shaded part. (Take n= 33)
_ 4 - : 7

tdom

Answer: . : CFt

%

20. In a shop, sweels are sold in packets of 5. Each packet of sweels costs 30¢. What is the

maximum number of sweets that can be bought with $57

. : . Answer: =

-
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21. The diagram below, not draw to scale, shows 2 triangles resting on a- straight line.

Calculate ~a.

Answer: ﬁ_ -

22.  The total height of 5 girls is 8.05 m. What 1s the average height of one gird? '

S0
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23.

In a class of 40 pupils, 12 pupils take public transport 1o school. Wha; percentage of the
pupils take public transport to school?

Answer: _

Yo

24. 1n a tesl, the ratio of Fatimah's score to Huiling’s score is 7 :

5. if Huiling scored
60 marks, how many more marks than Huiling did Fatimah score?

Answer: |

25. I x =16, evaluate = + 2x,

e 1 ome bt
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Questions 26 to 30 carry 2 marks each. Show your working clearly in the space below each
question and wrile your answers in the spaces provided.

For questions which require units, give your answers in the units stated. {10 marks)

26. The difference between 2 numbers is 180. if one number is thrice the other number,

what is the bigger number?

Answer:

- —

27.. In the figure below, 6 identical squares lie within the rectangle ABCD. Each square

measures 3em by 3om. What is the perimeter of rectangle ABCD?

" A

. ek
&
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28. Construci a parallelograrm ABCD where AD = 7 o and £BAD = 65°
The line AB is given below.

B EHE
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29. The paifern in the box shows part of a tesseflation. Extend ihe tesseliation by drawing

four more unit shapes in the space provided within the box.

30. Mrs Poh went to the gym once every 4 days while Miss Neesa went o the same gym

once every 5 days. If they first met each other at the gym on a Thursday, which day of - °
the weéek would they meet for the second time?
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.. CLASS PG _
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INSTRUCTIONS TO CANDIDATES
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Questions 1 {0 § carry 2 marks each. Show your working clearly in the
each question and write your answers in the spaces provided.
For questions which require units, give your answers in the units stated.

space provided for

(10 marks)

1. Suyinis 12 years old this year. Her father is 4 imes her age. What

is their total age in,
Y years' time?

: Any.ecn! .
- v :
2. A waler bottle contains 2 ¢ of water. if the water botfle is leaking at a rate of
8mi per second, how long does it take for the water Boftle to be emptied?
Give your answer in minutes and seconds.
Answer: . miuﬁﬁ s

3. Fanny queued in front of Zoee to take partin the ‘Smgapore Has Talent" oontest The

S snm of thexr queue uumbers ls 4291, Whams que s queue number‘?

. Answer _
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4.  The stalistics below shows the number of live births registered m Singapore in the
months of February and March 2008.
Total tive-hirths by maonth of registration, 2003
February 2981
March - 3174
Dala taken lrom Stafistics Newsletior Singapore, March 2009
What is the percerdage increase in live-births from February to March? Round off your
answer to 2 decimal places. '
Answer: %o
— . L —_——— -
5.

The diagram below, not drawn to scale, shows a shaded thangle drawn within a

rectangle. The ratio of the length AB 1o the iength of the rectangle is 1: 3.
Calculate the area of the shaded tdangte.

-— 36cm ) '

......

Answer: _ S
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For questions 6 to 18, show your working clearly in the space provided for each question and
wrile your answers i the spaces provided.

The number of marks available is shown in brackets [ ] at the end of each question or part -
question. {50 marks)

6. School A has % as many pupils as School B. School B has % as many pupils as

School C. It School A has 2234 pupiié, how many pupils does School C have?

Answer - {3m)

7. Gathy has 1250 more stamps than John. After John gave Cathy 68 stamps, she had

four times as many stamps as John. How many stamps did John have at first?
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8. 1 botlle of shampoo and 1 b_otile of balh foam cost $15.50 aliogether. Mrs Yeg bought

3 batties of shampoo and 5 bottles of bath feam for $359.70. How much-did one botlle of
bath foam cost?

Answe; . (3m}

— - o

8. In the figure below, not drawn to scale, ABCD is a rhombus.
£BAC = 68" and /CED = 45°.
(a) Calculate ZABC. {(1m)}
(b} Caiculate ~CDE. {2m)

Answer : (a}
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+10. The pie chart below shows the resulis of a.survey done on the preferences of 700 movie

viewers. fi Of € VEHEYS prefPr J0RONESE 8nd Korann mioNie s

BN

Korean

{8 How many viewers tike to watch Japanese movies? (1m)

{b) The ratio of the number of viewers who like Amersican movies. to the number of
viewers who like Korean movies is 7 - 4. How many viewers like American movies?
(2m)

.......

Answer - {a) _ {1im)

N LT T
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13. At an enrichment camp, the number of boys was 45% of the number of gids. Whea 20%

of the boys left the camp, there were 192 more girs than boys. How many children were
at the camp at first? '
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14. S ' . :
ally had some beads. On Monday, she gave half of her beads fo her sister. O
n

Tuesday, she uvs 1
y ed y of her remaining beads to make a necklace and bough! anather

426 beads. After that, she had 957 beads. How many beads did Sally have at first?

&+
CmEad e lliT. Answebsa-n o ol (460).
- L Py
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15 Study the number pattern below.

5 =5x5 = 25
50 =5x5x5 = 125]
5" =5x5x5x5 = 625]
5 =5x5x5x5x5 = 3125]

{(a} In5% whatlis the sum of the digits in the ones and tens place?
(b} Whatis the sum of the last three digits in 5'52

{(c) Whatis the sum of the last four digits in 5°'%2

. ‘ Answer : (2) ’ (1m)
: {b) - 'iQ_m) ]

. ) {9 Lo 2w
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16. Country A and Couniry B ook part in a Youth Game, From Country A_ the fatio of the
number of male supporters to the number of female supporters is 5 - 6. F_rorn COUﬂt{y B,

the ratio of the number of mate supportters o the number of fenﬂale Supporters was 1 - 3
) ) | "
The total number of supporters from Country A is 3 Of the total number of supporters

from Country B.

(a) What is the ra—tio of the number of female supporters from Country A to the number
of female supporers from Country B? Express your answer in the simplest form,

(&) After 4985 male supporters from bo{h countries left, the percentage of?grggg
supporters became 78%. How Many more male supporters from country B than

Country A were there at first?

e L e Y
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7. At 7am, a cac started travelling from Town A towards Town B at an average speed of

64kmih. Al 10am, a van started travelling from Town A towards Town B 3t an average
speed of 56km/h. By then, the car had already covered % of the entire journey.

{a) Whatwas the distance between Town A and Town 872

(b} How far from Town A had the van travelled when the car reached Town B?

Answer : {a) . _{(2m)
®»__ . _-Gm
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18. The shaded parl below is made up of a quarter circle and a semicircle which are drawn
within the rectangle ACDF. AB = 12cni. |

(3) Find the area of rectangle ACDF.

(b} What percentage-of reclangte ACDF is shaded? Round off your answer lo 2
decimal places.

i .

-Answer: (@) 1 - (2my .
o : . S - ‘3_';',, .
S L T—_;—L"*

o

END OF PAPER -
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